# DEPARTMENT OF PUBLIC WORKS MADISON, WISCONSIN

5/30/2008 Date COLBY ST. RECONSTRUCTION CO2 Change Order Number Contract Name 6020 2007 SOUTH LIVINGSTON ST. To Public Works Contract Number Original Contract Project Number RECONSTRUCTION 6020 Change Order Project Number ASSESSMENT DISTRICT 2007 (of change order) Change Order Description Items 1 & 2 : Additional storm Account Numbers for this Change Order: \* ESTM-58270-810381-00-53W0451 work on Livingston St \*\* CS53-58270-810355-00-53W0451 Items 3 & 4 : Additional street \*\*\* CS53-58250-810355-00-53W0016 work on Colby St HENSHUE CONSTRUCTION, INC. Contractor: 313 W. BELTLINE HWY SUITE 200 MADISON, WI 53713 You are authorized and directed to make the following changes in this contract: **Unit Price** Item No. Description Est. Qty Unit **Total Add** Total Deduct Remove storm box culvert on \* 1 1 ls 8,832.50 8,832.50 0.00 Livingston St attached to MGE box Additional time to install 12" RCP \*\* 2 0.00 1 ls 634.00 634.00 between S-5 and S-6 Supply and place fill for sidewalk \*\*\* 3 102 CY 14.00 1,428.00 0.00 along east side of Colby St Relocate City TE fiber optic box on 0.00 \*\*\* 4 1 200.00 200.00 ls SE corner of Colby & Van Deusen 0.00 0.00 0.00 0.00 0.00 0.00 0.00 11,094.50 Sub Totals 11.094.50 Grand Total 957,499.75 The Original Contract Sum was 8,398.95 Net Change by previous Change Orders The Contract Sum prior to this Change Order was 965,898.70 11,094.50 The Contract Sum will be: Increased 976,993.20 The new Contract Sum including this Change Order will be The Contract Time will be (days): 8 days Increased The Date of Completion as of the date of this Change Order, is Contractor's Acceptance

Date	6/5	102				<u>a.</u>
	9/		74	<del>-</del> )	- 21 /	/
City's Appr	oval (see revers	e side for in	struction	<b>ś</b> ) /	// //	<i>!</i>
	on Inspector	- Dre	$\sim 2.0$	X7.~~7	Lucida	12
Constructi	on Supervisor	13 yan	PWW	www.		
Engineer	· –			7		-

Board of Public Works

By Title

> Date 6/05/2008 Date 3/6/08 Date



Owner:	City of Madison Engineering 1602 Emil Street Madison, WI 53713	Division	
Project:	Colby/Livingston Street Reco	nstruction	
	requested to make the following box culvert per request by Jir		
07/19/07	Foreman Excavator w/Operator	745	6.25 6.30

08/23/07 Date:

Contractor:

Henshue Construction, Inc.

313 W. Beltline Hwy. Madison, WI 53713

Contract Number:

6020

(MIS-90011)

ract Documents. Description: Madison Gas & Electric.

			7.50				
07/19/07	Foreman	345	6:50	HR	\$ 80.00	=	\$ 520.00
	Excavator w/Operator		6.25	HR	\$ 145.00	$\Rightarrow$	906.25
	Laborer		6.25	HR	\$ 65.00	***	406.25
07/20/07	Foreman	4.00	.8.00	HR	\$ 80.00	-	.64 <del>0:0</del> 0 326
	Excavator w/Operator	,	4.00	HR	\$ 145.00	=	580.00
	Backhoe w/Operator		3.00	HR	\$ 120.00	=	360.00
	Laborer		7.00	HR	\$ 65.00	=	455.00
07/23/07	Laborer		2.00	HR	\$ 65.00	==	130.00
	Laborer		8.00	HR	\$ 65.00	=	520.00
07/24/07	Foreman		7.00	$\mathbb{H}\mathbb{R}$	\$ 80.00	=	560.00
	Backhoe w/Operator		2.00	$_{ m HR}$	\$ 120.00	=	240.00
	Excavator w/Operator		1.00	HR	\$ 155.00	=	155.00
	Excavator w/Operator		1.00	HR	\$ 145.00	=	145.00
	Laborer		0.50	HR	\$ 65.00	==	32.50
	Laborer		3.50	HR	\$ 65.00	=	227.50
	Laborer		6.50	HR	\$ 65.00	=	422,50
	Laborer		3.50	HR	\$ 65 <del>.</del> Q0	=	227.50
	Saw Rental		1.00	LS	\$ 2,625.00	<u>+</u>	 2,625.00

TOTAL ADDITION TO CONTRACT AMOUNT:

Sto

THE CONTRACT TIME WILL BE INCREASED BY:

ACC	CEPTED:  Mills Mawls  Contractor Signature	
Ву	Engineer Signature	Date

608.271.6719 Office 608.271.8277 Fax

313 W. Beltline Hwy. Suite 200 Madison, WI 53713

6 DAYS



Owner:	City of Madison Engineering Division 1602 Emil Street			Date	e:	08/29/07				
	Madison, WI 53713			Con	itractor:	Henshue C 313 W. Be Madison, V	ltline Hw	vy.		
Project:	Colby/Livingston Street Reconstruction		Со	ntract	Number:	602 (MIS-9001				
	requested to make the following changes in me to install 12" RCP from Manhole 5 to			ments.	. Descrip	•			-	
07/19/07	Foreman	3.00	HR	\$	80.00	****	\$	240.00		
	Excavator w/Operator	1.00	HR	\$	145.00			145.00		
	Laborer	2.00	HR	\$	65.00	=		130.00		
	Loader w/Operator	1.00	HR	\$	135.00			135.00		
	Laborer	2.00	HR	\$	65.00			130,00		
	Laborer	3.00	HR	\$	65.00			195.00		
	Laborer	3.00	HR	\$	65.00	-		195.00		
	Trucking Fee	1.00	LD	\$	98.00	=		98.00		
TOTAL	ADDITION TO CONTRACT AMOUN	T:					\$	_1,268:00	\$634	
							1/4	DAY		
	•								OK 5/20	
THE CO	ONTRACT TIME WILL BE INCREASE	ED BY:						day(s)	C. 7 (2)	
ACCEP	TED:								Co#Z	
Ву:	Males Hawer						/161	07		
Cor	ntractor Signature					Date				
By:	gineer Signature	•				Date		2.51.52		

608.271.6719 Office 608.271.8277 Fax

313 W. Beltline Hwy. Suite 200 Madison, WI 53713



Owner:	City of Madison Engineering Division 1602 Emil Street		Dai	e:	11/29/07	
	Madison, WI 53713		Сог	stractor:	Henshue Construction, In 313 W. Beltline Hwy. Madison, WI 53713	ıc.
Project:	Colby/Livingston Street Reconstruction		Contrac	! Number:	6020 (MIS-90017)	-
	requested to make the following changes in I for Sidewalk	the Contrac	t Documents	, Descrip	otion:	
09/18/07	Place Fill	102.00	CY \$	14.00	= \$ 1,42	28.00
TOTAL	ADDITION TO CONTRACT AMOUN	T:			\$ 1,42	28.00 OR
						5/30
тне со	ONTRACT TIME WILL BE INCREASE	ED BY:				day(s) Co#Z
ACCEPT	TED:					1/2 DAYS
By:	Miles Huwen	Sw-	_		11/29/c	27
By:	ineer Signature				Date	
						·
	1/10 : CALL INTO JI	im Wolf	e To	Veriet	QUANTITY	
	95 c	Y				



Owner:	City of Madison Engineering Division 1602 Emil Street			Date:		11/29/07				
	Madison, WI 53713			Contractor:			313 W. Reltline Hwy			
Project:	Colby/Livingston Street Reconstruction		Con	tract i	Vumber:	60 0MS-90	)20 019)	~ T	00	
You are r Relocate	equested to make the following changes in the City of Madison Fiber Optic Box (Requesto	e Contrac ed by La	ct Docun uri <b>Zieg</b>	nents. ler-H	<i>Descrip</i> endersor	tion: 1) }	de COST	ar ?	0 OK 10 00 15 17	
10/24/07	Relocate Fiber Optic Box	1.00	LS	\$	250.00	==	\$	250.00		
TOTAL	ADDITION TO CONTRACT AMOUNT:						\$	250.00	200	
									Co#2	
									14 DAY	
тне со	ONTRACT TIME WILL BE INCREASED	BY:						day(s)		
ACCEPT By:	TED:  Miles Mawero—  atractor Signature	*	<u>-</u>			// Date	/29/0	7		
By: Eng	ineer Signature					Date			<del></del>	